Rear Settings

A REAR ANTI-SQUAT
(SORTED BY ANGLE)
C-MOUNT D-MOUNT ANTI-SQUAT
3 UP | 3 DOWN | -0.5°
2 UP 3 DOWN 0.0°
3 UP 2 DOWN 0.0°
1UP 3 DOWN 0.5°
o 2 UP 2 DOWN 0.5°
L 3 UP 1 DOWN 0.5°
b=
=z
1] 1 DOWN 3 DOWN 1.0°
3 1UP 2 DOWN 1.0°
T 2 UP 1 DOWN 1.0°
(o] 3 UP 1UP 1.0°
o
2 DOWN 3 DOWN 1.5°
1 DOWN 2 DOWN 1.5°
1UP 1 DOWN 1.5°
2 UP 1UP 1.5°
3 UP 2 UP 1.5°
3 DOWN 3 DOWN 2.0°
2 DOWN 2 DOWN 2.0°
Y 1 DOWN 1 DOWN 2.0°
1UP 1 UP 2.0°
LEFT RIGHT 2Up 2up 2.0°
3 UP 3UP 2.0°
ROFLCENTER 3 DOWN 2 DOWN 2.5
3 UP is the highest rollcenter, 3 DOWN is the lowest rollcenter. > DOWN 1 DOWN 2.5
1 DOWN 1 UP 2.5
1UP 2 UP 2.5
' i - m m { ) 2UP 3uP 2.5°
@ (Lo & Q
W& U )(f) 3 DOWN 1DOWN 3.0°
. . ) 2 DOWN 1UP 3.0°
(The “1,2,3 4" numbers are only for inventory) 1 DOWN 2 0P 3.00
1UP 3 UP 3.0°
REAR TOE-IN 3 DOWN 1 UP 3.5°
The sum of the C-Mount and D-Mount = Total Rear Toe-In. 2 DOWN 2 UP 3.5°
1 DOWN 3UP 3.5
C-MOUNT D-MOUNT
3 DOWN 2 UP 4.0°
2 NOTCHES OUT 2 NOTCHES OUT 2 DOWN 3UP 2.0°
+0.00° TOE-IN 3.00° TOE-IN
3 DOWN [ 3UP [ 4.5°

1 NOTCH OUT
-0.25° TOE-IN

1 NOTCH IN
-0.50° TOE-IN

2 NOTCHES IN
-0.75° TOE-IN

([ O 3000375 O ]

&
1 NOTCH OUT
3.25° TOE-IN
1 NOTCH IN
3.50° TOE-IN
\0‘&1’
4
2 NOTCHES IN
3.75° TOE-IN

Rear Toe-In Example #1

-0.00° + 3.25° = 3.25° TOTAL REAR TOE-IN

2 NOTCHES OQUT 1 NOTCH OQUT
@ ([ O 3000375 O j@j
-0.00° TOE-IN 3.25° TOE-IN

Rear Toe-In Example #2
-0.75° + 3.50° = 2.75° TOTAL REAR TOE-IN

2 NOTCHES IN 1 NOTCH IN
=]
-0.75° TOE-IN 3.50° TOE-IN
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